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1. Why did India not join either of the two camps during the Cold
War?

Answer: India did not join either of the two camps during the Cold
War because India played an active role in mediating between the
two rival alliances for the sake of peace and stability. Their
strength was based on unity of NAM members and their resolve to
remain non-aligned despite the attempts and made by two
superpowers to bring them into their alliances.

2. How were the military alliances beneficial to smaller nations
during the Cold War?

Answer: Smaller nations got the promise of protection, weapons
and economic aid against their local and regional rivals. A state
was supposed to remain tied to its protective superpowers to unite
influence of other superpower and its allies.

3. Name any two foreign leaders alongwith the countries they
belonged to, who are recognisedas the founders of NAM.

Answer: Yugoslavia’s Josip Broz Tito; Egypt’s leader Gamal Abdel
Nasser.

4. What was Limited Test Ban Treaty (LTBT)?

Answer: It was arms control treaty between superpowers. It banned
nuclear weapon tests in the atmosphere, in outer space and under
water. It was signed by the US, UK and USSR in Moscow on 5
August, 1963. It entered into force on 10 October, 1963.

5. When and where the first NAM Summit was held?

Answer: The first NAM Summit was held in Belgrade in 1961 and it
was attended by 25 member states.



